Adeo Product code

Dexter Product Ref.

Designation

952870

DX-8016B

Pneumatic Stapler Type 80
male. Dexter.

INDER NO_ DESCNIPTION INDER NO. DESCNIPTION
1 HEX. SOC. HD. BOLT (M5x25) 30 O—RING
E EXHAUST CAP o 31 TRIGGBR VALVE GVIDE
3 RECTANGLE WASHER 32 TRIGGER SPRING
4 COMPRESSION SPRING 33 TRIGGER LOCK
5 O—RING 34 TRIGGER
6 CYLINDER COVER 35 O—RING
7 SEALING GASKER 36 TRIGGER PIN
8 HEAD VALVE PISTON 37 HEX. SOC. HD. BOLT (M5x25)
9 O—RING 38 COVER PLATE
10 O—RING 39 SPACER
11 O—RING 40 MAGAZINE CAP STOP
12 PISTON 41 E—RING
13 PIN 42 LATCH HANDLE
14 O—RING 43 PIN
15 DRIVER 44 SCREW M5)
16 COLLAR 45 HEX. SOC. HD. BOLT (M5x25)
17 O—RING 46 E—RING
18 CYLINDER 47 LATCH
19 BUMPER 48 PIN
20 NOZZLE 49 LATCH SPRING
21 GUN BODY 50 PUSHER
22 O—RING 51 MAGAZINE CAP
23 END CUP 52 PUSHER STOP
24 ATIR PIUG 53 SCREW (M5)
25 AIR PIUG SEAT 54 HEX. SOC. HD. BOLT (M5x10)
26 SEAL 55 PUSHER SPRING
27 TRIGGER VALVE SEAT 56 PUSHER GUIDE
28 O—RING 57 SPRING PIN
29 INNER VALVE SEAT 58 HEX. SOC. HD. BOLT (M5x8)

Page 1of 1




